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Most successful child rearing style

1
2
3.
4

Authoritative style
Authoritarian style
Permissive style

Uninvolved style
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Wrongly mentioned statement regarding the principle of
development

1.
2.
3.
4.

Development is continuous
There exists individual differences in development
Development is cumulative

Development cannot be predicted
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Wrongly written statement among the following with
regard to Sensori Motor Stage

1.

In this stage child is a reflective organism

2. The concept of object permanence is formed in this
stage.

3. Children in this stage can think abstractly

4. This stage takes place from birth to 2 years of age.
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According to Ericson the social conflict faced by children
during 3 to 6 years of age.

1.
2.
3.
4.

Trust - Mistrust
Initiative — Guilt
Industry - Inferiority

Intimacy - Isolation
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“Army Alpha test” is an example for
1. Individual Test of Intelligence
2. Group test of Intelligence

3. Performance Test

4. Non verbal test of Intelligence
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“Two factor theory of intelligence” was proposed by
1. Thorndike
2. Gardner
3. Spearman
4. Thurstone
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The number of sub tests in Differential Aptitude Test is
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1. 6
2. 8
3. 10
4. 11

The second stage in creative process 1s
1. Verification stage

2. Stage of Preparation

3. Stage of Incubation

4. Stage of Insight
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Persons with following type of thinking posess an ability to
generate multiple solutions to a problem

1. Concrete thinking

2. Convergent thinking

3. Divergent thinking

4. Non Directive thinking
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10.

11.

The following is not a projective test of personality

1. Rorschach Ink Blot test

2. Children’s Apperception test

3. Personality Inventory

4. Word Association Test
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Ayan neither wants to do home work, nor scolded by the
class teacher. The conflict of Ayan is

1. Approach - Approach

2. Approach - Avoidance

3. Avoidance - Avoidance

4. Double Approach - Avoidance
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12.

13.

The following method is also known as Clinical Method
1.
2.
3.
4.

Case study Method
Introspection Method
Action research

Longitudinal Method
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Identify the wrongly stated sentence regarding the
characteristics of learning

1.
2.
3.
4.

Learning is a goal directed activity
Learning is cumulative in nature
Leaning is dynamic

Learning is not a process, it is a product
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14.

15.

A person who is well versed in Hindi, wants to learn
Sanskrit. The type of transfer of learning will be

1. Positive
2. Negative
3. Zero

4., Bilateral
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Vincy is able to learn a list of meaningless words in 20
attempts. After one week Vincy was asked to relearn the
same list. This time she took 13 attempts to relearn it. The
savings score of Vincy is
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1. 25
2. 35
3. 65
4. 13
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The book ‘On Memory’ was written by
1. Ebbinghaus

2. Bartlett
3. Freud
4. Galton
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In Pavlov’s experiment ‘food’ is

1. Conditioned stimulus

2. Conditioned response

3. Unconditioned stimulus
4 Unconditioned Response

PSS (PRTKOS” ‘e3850” @O
1. D200 &EDS

Q0HS ([HA)0LS
D20 &EHS

> L N

Q82208 (HBD)0SS



18.

19.

Following is not a Gestaltist

1. Kohler

2. Koftka

3. Wertheimer
4. Skinner
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‘Figure ground relationship’ is related to
1 Attitude
2 Perception
3. Aptitude
4. Creativity
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20.

21.

One of the following is NOT related to cognitive domain
1. Analysis

2. Evaluation

3. Application

4. Imitation
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Persons with ‘dyslexia’ will face difficulties in

1. Reading
2. Speaking
3. Writing

4. Calculating
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23.

First step in Project Method is

1. Creating Situation
2. Planning

3. Implementation

4. Evaluation
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Identify the one which is NOT an input device

1. Scanner
2. Keyboard
3. Touch pad
4. Printer
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25.

26.

1 kilobyte is equal to

1.
2.
3.
4.

1000 Bytes
1024 Bytes
1024 Bits
1000 Bits
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Expanded form of MOOC is
MOOC J55e3 83750

1
2
3.
4
According to RTE - 2009, ‘Elementary Education’ means
1.
2.

3.
4.

Mobile Open Online Course
Massive Open Online Course
Master of Online Certification
Mobile Oriented Online Certificate

1 to 5 classes
Pre Primary Education
1 to 7 classes

1 to 8 Classes
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1

2
3.
4
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28.

29.

According to NEP 2020, Teacher Education Institutions
will be required to convert to Multi disciplinary institutions
by the year

NEP2020 (35°50 &:ergaso Desgso 57003 voges &
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1 2025
2. 2030
3. 2032
4 2035

To get the benefit of ‘JaganannaAmmaVodi Scheme” the
student attendance should be at least
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1. 50 %
2. 70 %
3. 75 %
4. 80 %

Directive counselling was introduced by

1. Williumson
2. F.C. Thorn
3. Rogers

4. James
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30.  Following is not a Teacher Centered Method

1.
2.
3.
4.

Lecture Method
Heuristic Method
Historical Method

Lecture Demonstration Method
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61.

62.

63.

64.

ENGLISH
Take this book if you
Choose the option that fits the blank.
1. like
2 will like
3. would like
4 are like
She  acup of coffee for me a few minutes ago.
Choose the option that fits the blank.
1. maked
2 make
3. makes
4 made

Choose the grammatically correct sentence from the

SET -1

following.

1.

2.
3.
4

I came here by walk.
I came here by foot.
I came here on foot.

I came here by foot by walk.

The purpose of using dialogue tags is :

1.

2
3.
4

to confuse readers about who is speaking
to attribute speech to characters
to omit punctuation marks

to create tension



65.

66.

67.

68.

Choose the punctuation mark which is used to separate
items in a list or series

1. Semicolon (;)

2 Comma (,)

3. Quotation marks (““ )
4 Apostrophe ()

Choose the correct sequence of the words in which they
appear in the dictionary.

A) message B) memorable C) mentor D) member
1. B D A

W > WO

2 A C D
3. D B C
4 C A D

Identify the linker that indicates contrast:

1. however

2 next

3. first

4 afterwards

Identify the complex sentence

1. She doesn’t use a computer

2 I went to the market and I bought some milk.
3. They will meet us at the skating area.
4

Although it was cold outside, she didn’t wear a coat.



69.

70.

71.

72.

Choose the correct irregular plural form of the noun

‘mouse’

1 mouses

2 mousis

3. mice

4 mouseys

“ can come to the party if want to.”

Choose the correct pronouns to complete the sentence.

I.

2
3.
4

Everybody, he
Nobody, she

Anybody, they
Anybody, you

Choose the phrasal verb that means ‘to refuse or reject
something such as an offer or request’.

1.

2
3.
4

put up
set in

turn down

set out

The following is true about imperative sentences.

1.

2
3.
4

They usually express strong emotions.
They always begin with interrogative words.
They give commands, instructions or requests

They provide information or state facts



73.

74.

75.

76.

He said to me, ‘Let’s go home together.”

Choose the indirect speech for the sentence above.

1. He proposed to me that we should go home together.
2 He urged me to go home with him.

3. He asked me to go home with him.

4 He proposed me to go home together.

Some of the fruit cake gone.

Choose the correct verb that fits the blank.

1. 1s

2. are

3. were

4. be

Belonging to all parts of the world.

Choose one word substitute for the sentence above.

1.

2
3.
4

native
cosmopolitan
omnipresent

puritan

Choose the correctly spelt word.

1.

2.
3.
4

gypses
gypsies
gypsees
gypseis



77.

78.

79.

80.

The first day of monsoon mist.

Choose the meaning of the word “monsoon mist”

1.

2
3.
4

sunshine
fog
snow

haze

I’ll tell you more : you always carried a bag with your
books in it on your sight seeing trips.

Choose the antonym of the word ‘more’

1.

2
3.
4

additional
extra

less
further

LAD, which is an inborn trait of human beings proposed by
psycho-linguistics is a:

1.

2
3.
4

Learning Activities Device
Learning Acquisition Design
Language Acquisition Device

Language Activities Design

Identify the graphic — motor skills

1.

2.
3.
4

Listening and reading
Listening and writing
Reading and writing

Listening and speaking



81.

82.

83.

Identify the content word form the following

1.

2.
3.
4

as
before
within

brave

The main aim of a composition is to:

1.

2
3.
4

communicate one’s thoughts in an organized way
communicate one’s thoughts in a Zig Zag way
explore phonetics

improve one’s hand writing

Read the following passage.

The sun cast its golden rays over the tranquil meadow,
where butterflies danced among the wildflowers. A gentle
breeze whispered through the trees, carrying with it the
sweet scent of honeysuckle. In this peaceful oasis, time
seemed to stand still, inviting weary souls to find solace in
nature's embrace.

Select the correct statement based on the passage:

l.

The meadow was bustling with activity as various
animals roamed around.

The butterflies in the meadow were still and resting
on the flowers.

The breeze in the meadow was harsh and unsettling.

The meadow was devoid of any plant life.



84.

85.

86.

87.

Read the following passage.

The sun cast its golden rays over the tranquil meadow,
where butterflies danced among the wildflowers. A gentle
breeze whispered through the trees, carrying with it the
sweet scent of honeysuckle. In this peaceful oasis, time
seemed to stand still, inviting weary souls to find solace in
nature's embrace.

Choose the correct statement based on the passage:

1. The meadow was noisy with the chirping of birds.
2 The breeze carried the scent of roses.

3. Time seemed to pass quickly in the meadow.

4 The meadow was surrounded by tall buildings.

If the teacher is not imaginative, Bilingual Method ends in:
1. Innovative Method

2 Grammar Translation Method

3. Direct Method

4 Deductive Method

“The Silent Way” was introduced by:

1 Holmer

2 Hymes

3. Michel West

4 Gattegno

I will walk the supermarket.

Choose the option that fits the blank.

1. to upto
2 off of
3. upto

4 due to



88.

89.

90.

Noun clauses replace in a sentence.

Choose the option that fits the blank.

1.

2
3.
4

individual nouns
compound adjectives
compound prepositions

relative pronouns

You ought to apologize.

Choose the function of ‘ought to’ in the above sentence

1.

2.
3.
4

Past habit
Conditional statement
Moral obligation

Future intention

Select the correct use of articles in the following sentence.

He is a doctor.

1.

2
3.
4

The article should be omitted.
The article should be ‘the’.
The article is used correctly.

The article should be ‘an’.



SET -2
Mathematics

In a game, Avinash won 5 marbles from each of his 6
friends. How many marbles did Avinashwon.
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L 36
2.5
3. 25
4. 30

The product of a number and 5 is zero. Then the number is
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462
3.0 18
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462



94.

95.

96.

The organizers of an Essay competition decided that the
winner in the competition gets a prize of Rs. 100 and a
participant who does not win gets a prize of Rs. 25. The
total prize money distributed is Rs. 3000. If the total
number of participants is 63, then the number of winners is

2.8 FEUSS FOEE° RODS 388 &, 100, RS 03
&5 25 33§00 TR0 QYO0 . TVSET
HOTIORVT BnFo 8. 3000. FEE’® Iugo FE) T
63 08 9oV REVIFOOS I8 oy

1. 25
2. 100
3. 19
4. 16

Value of 5°-3°

57 -3 dewns
L. 24

2 98
3. 128
4 125

24 ¢irls and 16 boys went for a picnic. Then the ratio of the
number of girls to the number of boys is

24 5508 25w, 16 5508 erend AFHTAF(ELH I,
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4 1



97.

98.

Convert % to percent

% S FBone 370
1. 50%

2. 75%

3. 100%

4. 125%

The cost of a pair of roller skates at a shop was Rs. 450.
The sales tax charged was 5%. Find the bill amount.

1. Rs. 427.50

2. Rs. 472.50

3. Rs. 427

4. Rs. 450

28 50576208 2.5 88 ) B0k ey B 8. 450. P
5% 6:9;53&§2’Q) ‘53(5%) RIaTeTAN 5?101‘5350?0&5 ?‘DO{Q) [0S0

1. 8. 427.50

85°. 472.50

. 427

L
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99.  If the principle is Rs. 1200, the amount to be paid at the end
of 3 years at 12% p.a.

1. Rs. 1623
2. Rs. 1632
3. Rs. 1600
4. Rs. 1625

@00 8. 1200 ¥0SS)o°D8 12% ;sé @008 3 VOS)o°®
S0 DYoBIODS Iogo

1 . 1623
2. &, 1632
3. &, 1600
4. &o°. 1625

100. Mixed fraction of %7
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12
3
2. 4k
4
3. 23
4



101.

102.

A batsman scored the following number of runs in six
innings

45,76, 25,27, 18, 55

Find the runs scored by him in an inning
2.5 2rgyS 6 3POMS® B DR Vowy S0
aécsa)&&ﬁ&.

45, 76, 25, 27, 18, 55

£965:3) NS DK DK

1
2
3.
4

44
41
42
45

Calculate the perimeter of the square whose side is 7 cm
(in cm)

7 200.20. PEY 2020 Ko SR SoepSTos SHRATS0E.
(0.2, ©8°%)

1
2
3.
4

25
28
35
40



103.

104.

105.

A rhombus with 4 right angles is called
1. Rectangle

2. Trapezium
3. Square
4. Parallelogram

4 oo eren 508 2.8 OP020:50 DShoermss.
1L Bysenspo
oD
(B350
BSB(R0

Ll

D088 5&)6323230

The total number of faces of a cuboid
BESI0SLH Ko Indo SoS0e HoPs

1. 4
2. 12
3. 6
4.

The angle larger than a right angle, and less than a straight
angleis

1. Acute angle

2. Reflex angle

3. Obtuse angle

4. Complete angle

008NN ET) DEO 00050 HF §e0 ST
DHB Lo & §easo

1. ©e) §e0

2 DoesEs 860
3. 0% &m0
4

ROYY S0



106.

107.

108.

The number of end points of a line segment
BPPPOLESNIE Ko D38 DotHIHe dogg

S N = W

1
2
3.
4
Cadets are marching in a parade. There are 5 cadets in a
row. What is the rule, that gives the number of cadets.

(G DOES” Smeh TR, 2.8 6 KD 5 500

5”56&(% &5;)63. eacfg;ﬁifo:\’)@ K)Og)agéo 23&;3 s*’&écg) 260&3553
SRS D500,

1. 5+n
2. 5n
5—-n
4. 2
n

Factorize 10x* —18x” +14x*

10x% —18x° +14x* S0 28770 fesS DAsore
1. 2x° (7x2 —9x+5)

2. 5x7 (Zx2 —9x+5)

3. 14x* (27 —9x+2)

4, 10x2(2x2 —9x+5)



109.

110.

111.

Simplify and write the answer in exponential form

< é@gaoﬁ) 23 P20S 10 ENoS” ova08.

(25 =28 )5 x27

1. 2%
2. 27
1
3. F
4. &

The equation for the following statement
“Three fourth of t is 15”

808 (PSSTY D888 Srnos® orasye
“t DY), 50508 PRy Sodhen 15”7
1. 3+4t=15

2. Et=15
4
3. 3t+4=15
4. 321t
4

Convert703 centimeters into meters
703 20.2.0:5 fbeogéfsﬁ)é S8

1 70.3
2 7.03
3. 0.703
4 703



112. Convert 1 hour 12 minutes 10 seconds into seconds
1 Koe> 12 dWre 10 DEFS ?o§€§1eS£§ S7BYS

1 4033
2 4303
3. 4330
4 43300

113. Find the base area of a cuboid whose volume is 625 cm’
and height is 25 cm

1. 100 cm?
2. 25 cm?

3. 625cm’
4. 125 cm?

205 B850 625 20.2° $H8A0 ey 25 0.2, ZOAS
BY D050 2 JTogo SHA'T0s

1 100 20.5°
25 250.5°
625 230.5°

> L DN

125 250.5°

114. The circumference of the circle whose diameter is 28 cm
(in centimetres)

28 0.2, THO%0 Ko $)F0 BwY), 5)F 908 (20.0.08)

1. 120
2. 100
3. 70
4. 88



115.

116.

METHODOLOGY

29

The statement “Mathematics is the Science of quantity
is given by

1. Aryabhatta
2. SrinivasaRamanujan
3. August Comte
4. Aristotle
‘KeIe530083 DOSTEIT(0” Ba TR )T T
1 @6525%3
2. BIT orsES
3. oKl &%
o] [8]
4 0SS

“People belongs to any profession, are using Mathematics

in their daily life”. This statement belongs to which one of

the following value

1. Cultural value

2 Utilitarian value
3. Disciplinary value
4

Preparatory value

“ 9 5)88 BoBS 558 wond KB IE'IFor S5 A
BDB0S” EHBIROE0ETE.” B8 (95350 808 O JewsH

ROBIE

1. O )BE Jes
DEorzmS QoS
E3085ed s

> L DN

ésa:r§ IISUIN



117.

118.

Deriving a principle or generalizing a point with the help of
sufficient concrete examples is called

1. Deductive method

2. Inductive method

3. Analytic method

4. Synthetic method

SABRY) 7Y STTVE0 HIFCDOS® 2.8 WG Co2gyts0
B 2.5 NG FETEIEBoSEo

1 AR0S RIaly

SUBSERNIAL

JZ3ed DG

> L DN

DOBAEY DS
™ (o)

In teaching learning activities the following thing develops
logical thinking, research ability, problem solving abilities
in students.

1. Teaching Learning Material
2. Black / Green Board
3. Textbook only
4. Note Book only
TGOS E)Eges” IO oS ITRed” oo es'iSs,
(AT HS, DIOTG DBAY T IO I0EOKHI @HIND
VOGO,
1L SESESeren
S0 /(S &6
(sp] (ev)
SEOROISEIR AN
S*eSen§ SR>

Ll



119. Teaching by inter relating the curriculum topics with one
another is called

1. Attachment
2. Abstract thinking
3. Accuracy
4.

Correlation

AYRETPES I T IACITOD 2ETIE’ 2,58 ©Sv0FA0D

S°QosE0

1 930250830

2. 3008 35S
3. a:i)l)eﬁéoso

4. JI°50200850

120. The Unit approach in writing lesson plan was proposed by

1. Prof. Morrison
2. Herbart

3. Bloom

4, D.S. Kothari

TDE FHFHEE SZTTH (HAPBONVS T
R M N
T8

zog;So

L

D.S. 88



SET —4
EVS

121. The Indian giant squirrel is a

1. Endangered species

2. Extinct species

3. Endemic species

4. Invasive species

TOSTEY DE &S (304D BowodS %&65) 28

L enss &) =

2. 29030V PoNS 2°N
3. QOEDE 2

4. SEWS =d

122. The force exerted by a charged body on another charged or

uncharged body

1. Muscular force

2. Electrostatic force
3. Gravitational force

4. Magnetic force
2.8 &S3TJ0S S5, ISE &SIFY8S S esF s

5209 P SeoiE e 200
1. Bo&ES 2500

A58 3@55 2300
[©)

md)@zgégsa 2200

L

eaooo@boé 2200



123.

124.

The fossil fuel among the following is
1. Coal

2. Hydrogen

3. Wood

4. Cow dung cake

808 T8S° Jere 30550

1. N KJA
2. ?@5&5
3. B§b_

4. €39 DS TS DEE

A thread which is stronger than a steel wire
Cotton thread

Nylon thread

Woolen thread

Silk thread

S &X 508 220FS oo

b=

Ll 10

Soeen RS0
SR o

éf%) >80

- L DN

D B0
[h]



125. The reddish-brown gland situated in the right upper part of
the abdomen

1. Pancreas
2. Liver
3. Spleen

4. Adrenal gland
&80 MOS wrKoS” HEFYS &0B BB Ao SYo

o (Ko®
1. g%30
(ep)
2. S°BA0
3. S50
(sp]
4,

DRI, Kok

126. Aquatic animals like fish excrete their wastes in the form of

1. Urea

2. Uric acid
3. Ammonia
4. Nitrogen

B0 508 BOBOoL S JTOH Ha 0" YI00

1 AT AST

2. 030008 esx0
3. &I° &20053"

4. NN



127.

128.

The design made by veins in a leaf is

1.
2.
3.
4.

Petiole
Lamina
Venation
Mid rib

esHS Hi3w )BT Erpdy (EBS)

1

Ll

Za@;io)oéo
BEFo
TS0 TS0
SE BEI

The mission initiated by the government of India to provide
toilets for everyone

1.
2.
3
4,

Vande Bharat
Nipun Bharat
Sreshta Bharat
Swachh Bharat

(59 25,08 HVIHEES> WoBOSETIS arES (SO

(FPE0DOBES €:e5§0

1

2.
3.

5038 eSS
DS ar5S
@ oS

) eSS



129. Bones become soft and bent due to the deficiency of
1. Vitamin A
2. Vitamin B
3. Vitamin C
4. Vitamin D
B §%0 5y Isnen DY ©KEo, SoAFSEo

2E0K0e08

1 WS A
2. WS B
3. I C
4. WS D

130. The pipe like structure that passes theswallowed food into
the stomach

1. Oesophagus

2. Intestine
3. Trachea
4., Duodenum

DORS es3380°Y z§cg;§o§oo S8 JEID o0 S0&d No7ye30
1 e55588 ool
G

OR 0
[N

L

eﬁo@moo



131.

132.

An example of a vehicle that is pulled by animals
1 Car

2 Cycle

3. Tonga

4. Auto rikshaw

2BOHHOS® KNG T IE ST

1 StV

2. &

3. erone
4. eﬁessag

Choose the correct set of indoor games

1. Chess, Cricket, Ludo

2. Chinese checker, Carroms, Kho- Kho
3. Ludo, Chess, Carroms

4, Kabaddi, Kho-Kho, Tennikoit

088" ST 3800 HIVTAT) KYOS0s

1L SssoKo, \8BE, erg®

2. P 35, sy, -5
3. erd’, $58oK0, S50
4, §2o§ §°-5°, @Q}S"anég
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SOCIAL STUDIES

133. Identify the incorrect pair

134.

1.

2.
3.
4.

Diwani -Right to collect land revenue
Tiger of Mysore -Tippu Sultan
Sipahi -Sepoy

FaujdariAdalat- Civil Court

DB BB K00S0k

1L

L

B - P B I0re0 T 9SS0
D08 YO - I Boerd
DI - dIPOW

PO IO - ?oi)e‘5_§66€g

Nij and Ryoti systems were related to the cultivation of this

crop

1.

2.
3
4.

Indigo

Paddy
Wheat
Bajra

DE 50050 T& DFS00 Ba H0es LK V0WOFONS

1

L

95080
Nte)
At

D3
23



135. Breeding of fish in specially constructed tanks and ponds

1. Viticulture

2. Horticulture

3. Pisciculture
4, Sericulture
(B8gEor IDYoTES BHIOE T, Seoses S Tden
0o
1 :De%ge;ﬁ
:ssggoﬁ

2
3. fb?oge;ﬁ
4 ?oége{)g

136. The percentage of Nitrogen present in atmosphere
FI55808° IS Fs0

1. 58
2. 78
3. 68
4. 40

137. Village headman of kakatiya period was called as

1. Talari

2. Karanam

3. Purohitha

4. Reddy

SEBANO P08 [PDE™ ge° IV
1. Serd

2 55630

3 POJONART M)

4 BC:%



138. The first woman scientist to receive Padmashri award was

1. JanakiAmmal

2. KadambariGanguli
3 NandiniHarinadh
4. Annamani

5B 0T FOBS IS v IS
L 38 oy

2 5°¢50238 KoK

3. S508 T8IE
4

eaag)zéas%

139. The practice of Sati was Abolished in
RAVTARDI0 VaDoBES VOSSO0

1. 1729
2 1829
3. 1929
4 1629

140. ‘The Article 40’ of the constitution of India is related to
1. Right to vote

2. Fundamental duties

3. Local self Government

4. Right to life

S ooersoRod 4035 e’ B Brdod

1L st

2 (EWE oo

3. A “‘003‘5363*’05
P

4. 203 TH)



141.

142.

143.

Rollapadu wild life sanctuary is a habitat for

1. One horned rhinoceros

2. Pelicans
3. Great Indian Bustard
4. Siberian Crane

S I SSFRYE VOUEETTO(E0 A TR0
1 aoe%?m& @ﬁmo)?ﬁo
2R

23832308 HE
%) 3

L

2DBAHS Fox

‘Aryabhatta’ was the India’s first Satellite launched in this
year

OSBEY 20 SDT0 By B 5SS (FTDYS
NeRT:ele

l. 1965
2 1970
3. 1975
4 1980

This is also called as “Andhra Kashmir”
1. Rentachinthala

2. Lambasingi

3. Ooty

4. Chittoor

BAR “es0(ee 5985 7 @) Erme oot

1 BOLIVOLB®
2 ©02200A
3. &ad

4 QBT



144. Ashoka used this script in his all inscriptions

145.

1. Gurmukhi
2. Devanagiri
3. Brahmi
4. Savara

9% &85 CH) TS’ Bs OV SHRTROTE

1. 8 &§)
2. BSI°KS
3. @P?J" )
4. D38

This does not belong to cognitive domain
1. Knowledge

2. Understanding

3. Attitude

4. Application

30 L& Bormrdd BoBSE 5o

1. 2°50

=y
2. (SINTARORN
3. 390

4. QAABFKO



146. “A project is a whole hearted purposeful activity conducted
in a social environment” is quoted by

1. Kil Patrik

2. Stevenson
3. Burden
4. Parker

“FOoR0E DOVC S g IBOT OWPS PO
5YTmgod” SPEHA G083 (PRY” o ASDODSTH

1L 3 >eE
2. IS
3. 28s

4. >y

147. Writing slogans, Pamphlets, poems etc., comes under this
academic standard

1. Appreciation, values
2. Conceptual understanding
3. Experiments and field observations

4. Questioning and hypothesis

DI Ten, SEIETe, SJSen INGBS S50 BADEO B+
DTG (237820 (05 S908

1. (D30, dewsen
2. DAAITCI OIS
3. BErres, ¢ Ho8oses

4, (©)05c0, HOFOYSen D[AHEo



SOCIAL METHODOLOGY

148. This approach is NOT followed in problem solving

1.
2.

3,
4.

Inductive

Deductive
Analytic

Productive

BB DO, BOS® ©RHO0TLE KYEYES0

1

L

e375s0J°¢% &§

QK S0T°es &§

DIAETSS S
™

e@Désﬁeﬁ &§

149. The total number of Academic standards in Social Science is

oS TGOS’ J080 TR (p;reTen

1.

> » D

8
7
5
6

150. This method is ideal for expressing a historical event

1.

2.
3
4.

Seminar
Panel discussion
Dramatisation

Symposium

2.5 POIEE BOMOTI SEICIEIS B DE HPIO
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